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1D pull distribution
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1D pull distribution
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corr_Adet_bpm1Y (ppb) 1D pull distribution
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corr_Adet_bpm12Y (ppb) 1D pull distribution
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1D pull distribution
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corr_Adet b

@
M m % + m M [ee]
+ ° S 14 o + -
© + o H © 1
5 8 - 5 2
] S 3 = 7]
s 3 S © -] ©
S g n
H =
> S H = =
= k=3 5 [ —
s & § £ E § g ¢ =R
o b=} = > o~ S L} 2
= 7] S 3 % & = ® -
o
[ , -3°
Wn_,_
PR I T N N NN SN SN SR RN S SO S AN SR N T S TR S SR P
[Te) =) ) o ) =)
N « = =
[ e ey ey e
O 0 —
56 —
~ —— —
— —r— -
: —ee—h —
o o .
<t <t — — 1
— —_ -
—— —
< —
——
—— —
——— —
——1 —
———— —
—— —
——i —
——— —
—— —
——— —
——+ —
J
J
J
I
L1 e
o o o [S) o o <
S =} S S =)
© < Y ~ N



pm1llY RMS (ppm)
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diff_bpm1Y (nm) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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